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Important Instructions for the
School Principal

(Not to be printed with the question paper)

This question paper is strictly meant for use in school based SA-I, September-2012 only.
This question paper is not to be used for any other purpose except mentioned above under
any circumstances.

The intellectual material contained in the question paper is the exclusive property of
Central Board of Secondary Education and no one including the user school is allowed to
publish, print or convey (by any means) to any person not authorised by the board in this
regard.

The School Principal is responsible for the safe custody of the question paper or any other
material sent by the Central Board of Secondary Education in connection with school
based SA-I, September-2012, in any form including the print-outs, compact-disc or any
other electronic form.

Any violation of the terms and conditions mentioned above may result in the action
criminal or civil under the applicable laws/byelaws against the offenders/defaulters.

Note:

Please ensure that these instructions are not printed with the question

paper being administered to the examinees.
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TG U9 T I 3T WA, HRT-37 3T HET-o & o =0 & | 379! 21 9T & 9991 & 3w forem g

Tt 7e At €

R Y T W DI =TI YH T § Weg G- et & g g9l § ofiqd = fem e g1 = oyl #
3T Hael Teh Wil 59 i SR faes & fore 97 g |

TR WIT-37 3R WRT-& & Tt Y9 o S god, - gord forem 2|

WRT-3T & Y9 G 1Y 3 F U Ueh 3k o ¢ | T IR Ueh IIeg 37909 Weh ST 1 < |

WFT-3T & U9 G 4 Y 7 % Y GF STkl o & | Tk ST I 30 9Tsa) H < |

WFT-3T & Y9 T 8 W19 o T 1T STehl o & | Tk TR ST 50 Praai H < |

WRT-37 o T3 T 20 T 24 T T Ui ekl & & | TToh SR THIHT 70 91agi § < |

WRI-& & Y9 GE 25 § 42 & YT TANTHE hivel TR TR agfoshedt U9 8 1 T U¥T Ueh 3Heh
g1 feu T =R foehedl § @ 219! Shael Teh Hod SUe foehed A R

General Instructions :

()

The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.
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HIT-31 / SECTION-A

TS T 39 &, FR off 3o ddied dvd 81 i1 ? 1
Sponge is a solid , yet we are able to compress it. Why ?
<1 SRITeRT 3TTTeni < W fafae s 1o sTaifires aered 2ran 7 1

Name two cell organelles that contain their own genetic material.

=& o1 T w1 e e fafea) 1

State Newton’s third law of motion.

Teh AHE! i HHT HI & q9 W 3 g1 & HR fafa | 2

A wooden chair is a solid at room temperature. Give two reasons.

T 7 A R A9 W S RS | 50 mL T foran $IR T SRt § Hifedd FaREe 2

() 3R g | < a9 qo et S a9 fF 39 5@ ° iR faore €l sen sn

ToRal o1 TR 39 QM1 SRl o oTeEEl @ T foRar @R sHE oiR sifuen faer

foreTr |

(a) 1 fSU TC qOHE W S H wiel S e arelt 9 3R <A bt 7 auH
=it 2

(b) T I ARG SR o ST hl Vel Y S SW? 319 TR i IfE +ifse

Prachi took 50 mL of water in two beakers at room temperature and added

sodium chloride to one beaker while sugar to the other, till no more solute

would be dissolved. Then she heated the contents of the beakers and added

more solutes in them.

(a) Will the amount of salt and sugar that can be dissolved in water at given
temperature same ?

(b) What will you expect to happen if she cools the contents of the beakers ?
Justify your answer.

T =Sl 3R U ™ 1 U <1 & wifed weita € 9 difas St wshdl w1 fafea 2
F & fau fafie g i e sufted 2 €1 SHI SEl § 90 & e & fag
fafir= ekl ot sufeafa & <1 swRw fafe

A horse and a mango tree both are complex living organisms with specialised
yet different tissue systems to perform the basic life processes. Give two reasons
for possessing different tissues to perform similar functions.

TecaTeR YT SRl At o fafew) ‘G o1 S.1. 9 fafau 2

State universal law of gravitation. Write S.I. unit of ‘G’.

@) K fFum Tw & e A o B ¥ @ 9 Afusk forel w wodl =R 21 3
3G fafir= waa e & s § o SHei 78 ©1 U afom um s &
e 38w fafy gemeu | sq wae Yo & 9 oy o fafec
(b) ol S =R A A & 19 fafae )
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10.

11.

12.

13.

(@) A farmer wants to harvest more than two varieties at a time from his
crop field. He has no idea about the cropping patterns. Suggest him one
method to get the desired result. Also state three advantages of this
cropping pattern.

(b) Name any two fodder crops.

fafya uoch auqa o3 & < oy fafauw| a2l 9989 o gHH &1 39T fhd R
ATHRN & ?

State two advantages of composite fish culture. What is the application of
hormonal stimulation in fish culture ?

FU & = SARY A SR IR RS Felt kG H uered @y A eraensdi §
ST AT |

Explain the inter conversion of three states of matter in terms of force of
attraction and kinetic energy of the molecules.

IR o Hhl hI JHFRI YSRIA Fd U Y@ 3T JARY| 3H UshH I AM off
ferfEm |

Draw a flow chart showing the separation of components of air. Also, name this
process.

TR TR R f g9 faueq foeme T g1 2 TR A gL FHA A g
SHITSTT |

Division of labour exists even at intra cellular level. Justify the statement by
giving two examples.

(a) T SR FicwEH H 1 Hifaew HEEs TR fafen |
(b)  feu e feli # ek ‘A’ q91 ‘B’ ol TEEIT |

\\
\\ L

(@) Write two basic structural differences between Parenchyma and
Collenchyma tissues ?
(b) Identify and name the tissues “A” and ‘B” from the given diagrams.
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14.

15.

16.

17.

WL

(@)  SHIF dSil W = A H I S g8 <Gl TR F9 S =6l 3Eh ISl
FI W E A AT T TR Sk 3akl ok T fArgw e 39t =i ot sfgal

ol TIfefere Y i H§ Heg i |

(b) ST I Fakl § F FRE ww w1 o IR SR R <1 Wl w1 iR
TS |

(@) Uma started walking fast when she noticed that some unknown faces are

following her. Name the two types of tissues which facilitated the
movement of her leg bones in response to the stimulus.

(b) Draw the diagram of any one of the above mentioned two tissues and
label any two parts.

T IR fazem =1 uRwifyg &) & fave 176 m 7Ry aet g<dta a6 @t
ufeRn 4 fife & g0 a1 §1 6 fie weem fave w1 foeemue wma wifs)

Define distance and displacement. A body covers one complete revolution
around a circular park of circumference 176 m in 4 minutes. Find the
displacement of the body after 6 minutes.

ST h1E 1 SISl SISl ST &oh Sl § O 39 W 53] ST YSTaR 3T i fawm
H iR St €1 sHeR R fafaw

When a fast moving horse stops suddenly a careless rider falls in the forward
direction. Give reason for it.

g FR farmmaeen A fre) weret @ 9 i AR 90 R0 ¥ ekl Y& Al 1 T-
10s 5 800 m T G T AT & | THHT 0T A HIST | 3R HI I ZHH 800 kg
T W T WM AT ot Y TRehierd Hifer |

A car starts from rest and rolls down a hill with constant acceleration. It travels
a distance of 800 m in 10 seconds. Find its acceleration. Also, find the force
acting on it if its mass is 800 kg.
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18.

19.

20.

21.

Rt o 1 gmM qen WR 9Refad HifST | 39k S.1 " fafen | geat w frdt
IE T GFAM 20 kg T 1 TH IE 1 FEAT W FAAN IR 9R fohaan gmm 2
(FEMRg = 1.6m/s2)

Define mass and weight of an object. Write their S.I. units. An object has mass of
20 kg on earth. What will be its mass and weight on the surface of the moon ?

(g onmoon = 1.6 m/s?)

T R W R e § 2 HA S hig Ue faeme @ e e iR B
31 2 Yot o geauH IR e § o ¥ 39 UR I Ude W I @l qfehferd
HIfT |

What is meant by acceleration due to gravity ? Suppose a planet exists whose
mass and radius both are half of that of earth. Calculate the acceleration due to
gravity on the surface of this planet.

(@) 7 R ford TR A IKAEH H R 1 © 2
() o YRGS e
(i)  Stfos qen stifos gfoRiEesan
(i) =TI ST
(b) A &I fRE H GIA & fau e S oaret @ faferi @ afnfia
TS |

(a) How do the following factors improve the crop yield ?
(i) shorten maturity duration
(if) biotic and abiotic resistance.
(iif)  wider adaptability
(b) Define two methods of improving crop variety.
AYdr / OR

Al AHEH /T 8 a9 IR i R T g9 S © e

(a) U % fTT S I Iuctserdl =l dgM & faIu sTqaml M areft i <1 fafeal
fefaT |

(b) Bl Fi" I & I @ fafaw

) fo9E & fau 7a IR 7St S/ Sora womelt i G| § =men wifs |

Unpredictable monsoon / droughts / low rainfall is adversly affecting the
Indian agriculture.

(@) Mention any two initiatives that have been adopted to increase the
availability of water for agricultural purposes.
(b) State two advantages of making check dams

(c
(a) 791 % STUR W ARG & ek, ST ad1 9 | il i

~

Briefly describe canal and river lift system of irrigation.

(i) qYreFal
(i) U o T
(i) gedl

(b) 1 % wr fafa
() ¥ A H AR W I S §
(i)  =ai A ot FHIT S Thar |
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22,

23.

(@) Compare a block of wood, water and air on the basis of the following :
(i) Compressibility
(if) Particle motion
(i)  Rigidity

(b) Account for the following

(i) Gases exert pressure on the walls of the container.
(if) Liquid can be called as fluids.
3Ygdr / OR

(a)  arsdieRRoT 3 SRM Rt ga 89 aren wRad fafen
(b) 7 H uREadd % SR arad o1 R ford YRR gefad gt 87 ST ST Rt
e ife |

@) SIREIES
(i) =g Tid
(iii)  STar
(@) Enumerate the change that takes place in a liquid during evaporation.

(b) How is rate of evaporation affected by change in the following ? Justify
your answer.
(i) Temperature
(ii) Wind speed
(iii)  Humidity

ST FEAREES 1 T T Gk L h YohT 1 Wog AR Aifehd fod IR 39 5
TohH oh! IRHIT HifST |

Draw a labelled diagram to show the process of seperating ammonium chloride
from salt. Define this process.
AYar / OR

(a)  amafae faeEe oiR frefem § & T s gEies Fife |

(b) 9 ¥ 9 FeEeS ® g
HIR Hewe oo, g¥, ¥7, Tl UHl, HRed, =it 1 faerd, %E
hid, g TRed

(@) List any three differences between true solution and suspension.

(b) Identify colloids from the following :

Copper sulphate solution, milk, smoke, muddy water, butter, sugar
solution, face cream, lemonade.

(a) Wﬁfﬂmvﬁrwwﬁws=ut+%a@wﬁﬁm >
(b) W HR 55 H 18 km/h ¥ 36 km/h T Tk THH @RA Bl 8 | TR T @RI

a1 39 qHI H 7 i T8 g IReRfad i)
(@) Derive second equation of motion. S = ut+ % at? graphically where

the symbols have their usual meanings.

(b) A car accelerates uniformly from 18 km/h to 36 km/h in 5 seconds.
Calculate the acceleration and the distance covered by the car in that
time.
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24.

379ET / OR
fret axg & 9 U T Ae-99a WME A1 FEE Hife AR 7 g9 & IW
ifsre |

A
A B
6- 1]
5.
L 4]
&
E ]
2.
]_.
: : C .
0 2 4 6 8 10 12 14 16 18 20
HHI (in s)

i)  OA, AB 3R BC gN fhe WehR =i 7 fefa ot St & 2
(ii) %] KT ETCHeR T T SUTcHeh R0l A1 ShifsTy |
(i) %] 8’ A § B ek dd skl T gl A1 IS

Study the speed time graph of a body given below and answer the following

questions.
A

A B

speed (m/s)

= N W e O

: : C

0 2 4 6 8 10 12 14 16 18 20
time (in s)

(@) What type of motion is represented by OA, AB and BC ?

(ii) Find positive and negative accelerations of the body.

(iii)  Find the distance travelled by the body from A to B.

»
>

(a)  GoT H&ToT 1 fem fafEe | e w1 S.1. " fafen |

(b) TR, TH I FATH 1000 kg &, Tk & Hieh W@ F Teh-gEL o faodia foum
H 7fad o W | o & T8 UAE B A 5 m/s T HEg & 915 AG S
TH-gE H I S €, T k1 Himfera S om grm 2

(@) State law of conservation of momentum. Write S.I. unit of momentum.

(b) Two cars each of mass 1000 kg are moving in a straight line but in
opposite directions. The velocity of each car is 5 m/s before the collision
during which they stick together. What will be the velocity of the
combined cars after collision.

3AYdT / OR
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25.

R feu v foxr = SfEy &R fr= weAl & sw i

() 9 G A F gH R W T A R, @ A A HT UEHR
20 gwt BT &1 TN B 5N YSRIA Tgdsh I RT 2

(i) 3T S A1 HRo fafew )

A ford! e # g 9t 39 Bie T Sy, df 56k @ 9 & A & AR

o Bl © 1 ST9 o7 Yo fafau) s S &1 gfe wifsr

Look at the diagram above and answer the following questions :

(i) When a force is applied through the free end of the spring
balance A the reading on the spring balance A is 20 gwt. What
will be the reading shown by the spring balance B ?

(if) Write reason for your answer.

If a balloon is filled with air and its mouth untied, air is released from its

mouth in the downward direction. Write the other observations made by

you. Justify your answer.

HT-s/ SECTION - B

T | 3Tafger Weftel Jail st Suferld =i S #, g0 9dl aiomw faerm afe <« &
e

(@)
(b)
©)
(d)

Tig HC| fretmn s &
w1 fhemar S €

Tig HySO, foemn S &
Tl HNO3 fiemn s &

To test the presence of adulterant material yellow in dal, we would get the

correct result if :

(@)
(b)

Conc. HCl is added to the dal extract
Water is added to dal extract
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26.

27.

28.

() Conc. HySOy is added to dal extract

(d) Conc. HNOg3 is added to dal extract.

g A g [ % =ed & e § e faean faamn, S e faa A |
femmn e €1 fot B o fgror o1 41 g

e —
HE o foe fen
T3 - A fa2 -B

(@ A (b)) e ( AE-FEr (d)
Rahul added iodine solution to rice extract which is milky white in colour as
shown in figure A . the colour of mixture in figure ‘B’ will be :

add I2 solution

i e

k/ Rice extract L\./
Fig - 'A' Fig - 'B'

(@) Blue (b) Black brown (c) Blue black (d) Brown.

It T eI AA HT gU, H1 A fea™ & forw i 1 o &1 S9am fwman) feam

% foTU =i ) DS 1 STANT A T HROTE :
(a) M YshH H HEE KTl
(b)  TTIAN I FHHA TG

(c) TSI ST o S@HT
(d) TGS ST skl ST

While determining the melting point of ice Karan used a glass stirrer. The
purpose of using glass stirrer is to :

(@) help the fusion process

(b) keep the temperature uniform
(c) increase the kinetic energy

(d) decrease the kinetic energy.

ST T FEYIH A B F YA hl HA GHA, T S I A €, q9 SHRI
AIHE -

@ fEawda?

(b) IS Tl § 3R R e §

() T A W Tl W §

(d)  FIed A A €, I8 TAN ok TH W R R

Page 10 of 15



29.

30.

31.

32.

While doing an experiment to determine the boiling point of water, when water
starts boiling its temperature :

(@) remains constant

(b) first decreases and then increases

() keeps on increasing as long as heating is continued

(d) may decrease or increase depending on the place where the experiment

is being carried out.

AT UohH o STANT ¥ gk fohu S Hehd € ¢
() SRl gl qe SFeTIRieT gl
(b) AR S qAT AT S
()  SeTsiiel ga qem STeereiel 2o
(d) SR 59 qAl SR S

Sublimation process can be used to separate :

(@) Volatile liquid and non volatile liquids
(b) Volatile solid and non volatile solid
() miscible liquids and immiscible liquids

(d) Volatile liquid and non volatile solid.

e fommeff &1 o102 1 A%l &I 5a | et 3t YRR ¥ fead™ 1 wal T
fereneff 1 Sféra fopan

(@) T el foeEm o ©

(b) T IR fagor o &

() oI9S i T 9 3 ST §

(d)  3TUS T TR ST ! Hag T A B

A student was asked to mix the white of an egg with water and stir well. The
student observed that

(@) a transparent solution is formed

(b) a translucent mixture is formed

(c) egg white settles down at the bottom
(d) egg white floats on the surface of water.

TATRAT § hleiq SEHATHIES hl STINT Hid 99, 89 39 :

(a) SOl § T =1feu |

(b) TS § TG =AM |

()  AHd S § g W =g |

d) T HHREE § gL @A =1feU |

In the laboratory, while handling carbon disulphide we should keep it away

from :

(@) flame (b) carbon
() distilled water (d) iron sulphide.

iR fe a1 o STofeht, T Scd=1 HiaT § 1 TG hI {18

(@ T (b) W () w9 (d) =
Magnesium ribbon burns in air to produce ash. The colour of the ash is :
(@) pink (b) grey (o) white (d) black
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33.

34.

35.

36.

fagor 7 Iufterq oWt UISeR & @le 1 SiaH Josh 3 St gog a9 fafy 2 -
() & 9 g

(b) ST FHIh I IYAN HLAT|

(c) YT el | STl & |19 TH HAI |

(d)  fago =i = few § T R |

The most appropriate method for seperating iron filings from sulphur powder
present in the mixture is :

(@) hand picking

(b) using a bar magnet

() heating with water in a boiling tube

(d) heating the mixture in a china dish

T TS o hidl Hl FS 99 &% foIq IR Fethe foer=m § gae W T faeem &
1§ B e qftedd| ©

@) | gk &1 (b) T E ™

(c) Tk LG Hlel d) o e

An iron nail was kept dipped in a solution of copper sulphate for some time.
Colour change in the solution is from :

(@) blue to light green (b) blue to red
() light green to blue (d) red to blue

ISt 1 Teiocdl <hl 3TETE TgS S0 T84, HIfsehiel i ARRfsa foren mar & aifer:
@) forcet sifye g fo@

(b)  IferRrstl & T S @

(c) Tk Jaacii ol Jo=T 7 71|

(d)  wIfereRIE HTEAT fafemsiea & s

While preparing the temporary mount of onion peel the cells are stained in
order to

(@) make the peel more beautiful

(b) maintain moisture in the cells

() avoid the entry of air bubbles.

(d) highlight the cell structures.

@S i ferect! § RIRTRE 1 U&T0] T o fT WES sAd 999 o6 TRe W ARG
EF{_*ITHT%Q:

(a) TS K1 ToE g3 Ta

(b) @I Aeh Tl

() EISEIRRSINERZIE))

(d) @S HiE v e

To observe cells in an onion peel we must prepare the slide by mounting on it :
(@) crushed pulp of onion
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37.

38.

39.

(b) dry scale leaf
() green leaf of onion (Spring onion)
(d) thin layer of fleshy leaf of onion

g T o= fasroareiac wEel § 9, AFd huid iRl &l TES ol 989 1
o fora, fom TR =1 ot oo § Wi, 9 €

@) fafte Sgw iR SRR |fed SRR Hifvmen

(b)  fafem @t |fed SEdeRR HifERe

) faftm dge, Wy e 9t I9aa HIFRRT

(d) Y "ied RA W HET A HIRHT

To identify the human cheek epithelial cell slide from the slides given, each

having different characteristics, the characteristic which you will take into
account for its identification are :

(@) rectangular cells with prominent nucleus and chloroplast.

(b) rectangular cells with prominent vacuoles placed side by side
() large flat cells with a prominent nucleus without vacuoles.
(d) rounded cells thick at corners having vacuoles.

T TAEE hl J&I01 YeTewll R it W, Bl 3 T o wige Tehed s &1 2 1
I YerahTew1 I o =R fafive darn A2 fopu) T A 1 wa wel 6 e ?

(@) T8 HIfreRE SRt hiferent fufa vaet 2t €1

(b)  RIRTERIT T TR HET Bt B

() I IR B Teh oSt WM SUfeerd Bt T

(d)  STRRITR AU & WY Tk HIRTC Hafeerd gl 2 |

After observing a slide under microscope Medha identified the slide as of

parenchyma tissue. She recorded four characteristic features of parenchyma
tissue. The feature which is not correct is :

(@) cells are thin walled and prominent.

(b) cells are thick walled at the corners

() a large single vacuole is present in each cell

(d) large number of cells are placed together with inter cellular spaces.

TS A Yace g Wt 9 1 T wee Ui @ S fe e o o femmen wen 1

()  YRaa W= =t (
(c)  hehrcird U=l d) e =it ot

Anuja observed a permanent slide of a muscle fibre under a microscope as
shown below. She identified the slide as :
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40.

41.

42,

(@) striated muscles (b) cardiac muscles
() skeletal muscles (d) non striated muscles.

forarfirell gr0 Starenf Ster sl fwradr I 3 % TN H Fd g WA A gl 1
foRmfirell =1 ST 50 g AT | 38 =R =vel o forg forarfier /a1 & famielt iR fiRe &
SN 80 g AT | foRerfiTel g1 STemifoa ST shi wfer @

(a) 40% (b)  50% (c) 60% (d)y  70%

Raman while doing an experiment to find out the percentage of water absorbed

by raisins, measured the mass of dry raisins as 50 g. He soaked the raisins in

water for four hours and again measured the mass as 80 g The percentage of

water absorbed by the raisins is :
(a) 40% (b) 50% () 60% (d) 70%

kel o Y3 W fEd Teh ekl o ek ol fawshr A6 o fau stesas =fAdq o 1
1 T R & TC =R HAAICR o iU 10 €1 =R Hurier qosdi # okl i’
STeaHish 719 < fear e g1 st e H 9 e wAmieR gl o1 wad &l ?

(a)  9NEL0-100 gwt ; 3TeTaHIsh - 10 gwt
(b) G0 - 10 gwt ; SeTaHIS - 1 gwit
() GET0 - 10 gwt ; SEUTHIH - 2 gwit
(d)  9REL0-100 gwt ; 3TeTaHIH - 1 gwt

Four spring balances are provided to find the minimum force required to just
move a rectangular wooden block lying on a wooden surface. Range and least
count of four spring balances are given below. Which of the following spring
balance will you select ?

(a) Range 0 - 100 gwt and least count of 10 gwt

(b) Range 0 - 10 gwt and least count of 1 gwt

(c) Range 0 - 10 gwt and least count of 2 gwt

(d) Range 0 - 100 gwt and least count of 1 gwt.

foret &fas @eret & As W e TSR e & YR IR ¥ fagen 7 & fag 1
AT <AH e & o g grae] Tfyd w1 & ey, Uk wuHieR qen fean w7
feu U FUFICR o 1 STUAHIF T :
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(b) 2 gwt (o) 5 gwt (d) 3 gwt

In an experiment to establish relationship between weight of a rectangular block
lying on a horizontal wooden table and a minimum force required to move it. A
spring balance is provided. The least count of the given spring balance is

(@) 1 gwt (b) 2 gwt (c) 5 gwt (d) 3 gwt

-00o0-
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